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60 7 S 180 M TILk 0.034
60 8 TR 200 M TILk 0.045
60 9 S 220 M TILk 0.0455
60 10 |HE#X 60 M Lk 0.04
60 1 28I OBEK 250 i —

60 2 20157 QK 228 S-Mg HEEURD 0.28
60 3 2815 AR 150 i —

60 4 2O E 110 fidk —

60 5 R 0K 52 SM_EEILE 0.095
60 6 EE)IA K 67 SM_BETILE 0.105
60 7 R 0K 75 M BESILE 0.056
60 8 2O E 150 M BEIILE 0.021
60 9 28157 0K 175 M TILk 0.019
60 10 |2&anmx 215 M Lk 0.0185
60 1 A i X 67 M JILAEREE 0.0103
60 2 i X 120 M ILRERT 0.011
60 3 i X 203 M TILLERL 0.014
60 4 HFhih X 245 M TILhERT 0.016
60 5 i X 286 s M _E 0.355
60 6 L Hhith X 215 SM_EEILE 0.215
60 7 A i X 152 SMg BSRYBE LK 0.138
60 8 L Hhith X 108 SMg FERUD 0.255
60 9 A i X 50 SMg HGEURD 0.39
60 10 [4E#hiX 12 i —




M1 EEBRESRE BREEBIFEIEM) BAM61E12H9H

REHAER [AEBRAESEBH  |KE HEANE e
(m) TES5E = EE Md(50%) ¢ [PH CcoD IL T—N T—P ORP wmit
61[ =777 | s—1 |4 50 G-F g 6.000
61 =77 | s—2 |4 100 sFg BERYREDILE 0.110
61| =777 | s—3 |4 150 sFg BGEYBEDILE 0.135
61[.=77 | s—4|4H 130 F_BEIILE 0.055
61| =777 | s—5]|4%i 50 F_BEYILE 0.070
61 =77 | s—6 |4 70 F_BEIILE 0.055
61| =777 | s—7 4% 150 F_BEYILE 0.046
61 =77 | s—s8 |4 80 F_BEIILE 0.060
61| =777 | s—ol|4£ih 130 F_BEYILE 0.036
61 =77 [s—10[4# 220 F_BEIILE 0.044




TR 312 A BERD LURE (F1LR K EEFABR 1S - B A KE BRI

Eips) FH3F12A~F/K6F3A

REFFER |[REBES TS [KE HERNE £
(m) tTEBE>EE =) EEd Md(50%) ¢ |PH COD IL T—N T—P ORP SRR

3|1e7ev St1 |EEIEIO 20 [ = AL 0.02 1.09

3[4 st2  |2EIED 18 " — — — — —

] st3  |[2EIAO 48 i3 E fEE 9.9 479 0.364
3[4 Sst4 (2O 60 e g3 EE] 15.9 5.67 0.001
3|1eev St5  |EEIEIO 28 iE xE BRER 36.9 7.98 0.023
3[4 Sst6  |EE)EIO 55 e g3 ER 46 3.86 0.011
41898 St1  [EFIEO 21 E=) — — — _ —
4[1H9H St2  [E&IAEO 25 1] P HL 0.10 1.50

41898 St3  |EFIEO 42 iE xR ER 10.80 4.64 0.582
4{1H9H St4  |[E&IEO 58 e xE EMRE 16.80 5.41 0.013
41898 St5  |EFIEO 27 i xR BRER 43.70 12.20 0.173
4[1H9H St6  [EEJIAEIO 45 e xE EMRE 6.10 3.14 0.19
4/9H29H St1  |EEIEIO HaED R L 0.50 0.60 ND
4|9H298 St2  |EFIEO VILb~#iE)  [RE HiER5S 2.60 0.80 0.01
4/9H29H Sst3  |EEILEIO <)Lk SR L 255 9.80 2.70 0.69
4[9A29H St4  |EFNEO fiikiy) R HL 1.00 0.60 ND
4|9A29H st5  [EZIAO [ 3= AL 0.20 0.96 0.001
4[9A29H St6  |EFEO b~ Lk EA)—7 [HIERSH 5.60 2.40 0.08
4/9H29H St7  |E&IEDO DILh~HEY  |RERRIR b 2 12.10 3.20 0.2
4[9A29H St8  |EFEO TILk KA)—7 |HIEREH 9.00 2.70 0.08
4/9H29H St9  |EEILEIO HaED R HL 0.40 0.70 ND
4(og298 | sti0 [E#)IEIO DILh~#R  |[AUV—TR |t R5 7.50 2.20 0.05
4[9A29H St11  [EE&)EnO W~k [RAV—T |BER 8.50 2.40 0.17
5|2 528H St4  |EEILEIO 1] R H% IR HL 0.10 1.00 ND
5|2H28H St5  |EFIEO BEL 52 iR 7.40 3.70 0.49
5|2H28H st11  [EE&)Eo wEt R HR IR RiE R 9.50 450 0.45
5|5811H St1 |EEIEIO HaED IR HL 0.40 0.9 ND
5|58118 St2  |EFEO e IR HL 0.20 1 ND
5/5811H St3  [E&IEO TILk AU—J8 |HL 10.70 3.4 0.44
5|58118 St4  |EFNEO i g2 HL 13.30 3 0.47
5|5811H St5  |EEIEIO A kA)—7 [#HL 1.20 1.2 0.01
5|58118 St6  |EFEO 2Lk kA= |#L 3.80 2 0.05
5|5811H St7  [E&IAEO TILk AU—J8 |HL 15.10 35 0.37
5|58118 St8  |EFEO 2Lk FU—J2 |HL 14.90 3.7 0.36
5|5811H St9  |EEILEIO HaED kA)—7 [#HL 0.40 0.7 ND
558118 | st10 |20 TILk KA)—7 |[WEBEHE 3.90 1.4 0.02
558118 | sti1 [2E)iEN HaED IR L 0.40 0.7 ND
5|8A5H St4  |EEILEIO HaED R fR IR HL 8.40 4.30 ND
5|885H St5  |EFEO fiikiy) 52 iR 9.40 4.90 0.49
5|8A5H sti1  |E2EEO JILh~#E  |AU—TE [HRIEYR 6.10 3.30 0.45




ERSE12A R LIF (BEILEKESEIG - BXRKEERRERS) : FS3E12A~Fr6%E3H
REHFER |[AEES uﬂﬁiarfr IKZE HEAE £
(m) TEH5E =) EE Md(50%) ¢ [PH COD IL T—N T—P ORP ik

6[2819H St.1 0.150 0.01|ERD S H
6|2H19H St.2 0.163 ND EXs¥avlin
6[2819H St.3 0.061 0.02| ERD 74T
6|2H198 St.4 0.545 ND EXs¥avlin
6[2819H St.5 0.054 0.07|ERD S H
6|2H19H St.6 0.142 0.01|F A2
6[2819H St.7 0.074 0.01|ERD S #
6|2H19H St.8 0.062 0.1 |ERD D
6[2819H St.9 0.268 ND ENDR iy
6/28198 | St10 0.080 0.04| E R HT
6[2819H St.11 0.099 0.15|ERD 4
6/28198 | Sti12 0.071 0.02| 2 HT
6| 3828 st 0.890 ND EXs¥avlin
6] 382A| st2 0.184 ND EsT N
6| 382A| st3 0.054 ND EXs¥avin
6| 382H| st4 0.229 ND ENDR iy
6| 382A| St5 0.059 0.02| 2 HT
6| 3H2H| st6 0.139 0.02| ERD 74
6] 3828| st7 0.122 ND EXs¥avlin
6| 3H2H| st8 0.079 0.03|ERD S #T
6| 382A| St9 0.275 ND ERD oM
6| 3H2H| sti10 0.079 ND ENDR iy
6| 3F82H| Stii 0.057 0.03|ERD 2
6] 382A| sti12 0.063 0.02

6| 3848| sti1 0.361 ND ENDR iy
6| 384A| St2 0.399 ND EXs¥avlin
6| 3848| st3 0.059 ND ENDR iy
6| 384A| St4 0.203 ND EXs¥avlin
6] 384A| st5 0.061 ND EsT N
6| 384A| St6 0.157 ND ED S
6] 384A| st7 0.111 ND EsT N
6| 384A| st8 0.050 0.09|ERD 2
6| 3848| st9 0.260 ND ENDR iy
6| 384H| St10 0.059 0.01|F A2
6| 384H8| st 0.023 0.06| ERRD 7 #T
6] 3848| sti12 0.051 ND F RSO
6| 3A30A| St 0.212 ND EXs¥avin
6| 3F308| st2 0.199 ND ENDR iy
6| 3A30A| St3 0.059 0.15| XD
6| 38308| sSt4 0.292 ND ENDR iy
6| 3A30A| St5 0.072 0.05|ERD 2




ERSE12A R LIF (BEILEKESEIG - BXRKEERRERS) : FS3E12A~Fr6%E3H
REHFER |[AEES uﬂﬁiaﬁﬁ KR HERNE £
(m) TEH5E =) EE Md(50%) ¢ [PH COD IL T—N T—P ORP ik

6| 3A30A| St6 0.095 0.01|F A2
6| 3830A| St7 0.140 0.08| EF Do
6| 3A30A| St8 0.077 0.31|E R
6| 3830H| St9 0.365 ND ENDR iy
6| 3830H| St.10 0.074 0.03|ERD 2
6| 3830H]| St.11 0.124 0.04| ERSD 4T
6| 3830H| St.i12 0.053 0.01|F A2




